HISTORY— CIVICS

| Time: 2Hrs) Queshon Paper September 2009 (Max Marks : 40"

'Q. 1 : (A) Complete the foliowing stetemems by choosing the approprlate altematives

L34 3} )
from those given in the brackets.” {
- (1) By an Act of 1773, the East lnd1a Gompany acqulred a monopoly of the trade w:th

America. (cloth, tea, sugar)
(2) inn 1615 A, D.. the British’ obtajned permission te stert a factory et (Mumbea Surat

Madras)

(3) .... had read Rousseau. (Louis XIV, Louis XV, Louis XVI)_ . L
(B} Match the correct pairs. - SRR s {3)
- Group 'A‘ | : - R - X Gmup "B' . _h .
() Soviet Rusma -] (a) Geneva
(2) Laid the foundation of the UNO : ' (b) Denmark’
{3) The headquarters of the League of Nations | (c) Sputni-I :
' ' ' ' 1 {d) Aryabhatta ~ -
: : {e) Atiantic Charter o
Q 2 : Answer the followlng questlons in 25 to 30 words each. (Any 1‘wo] - S (4)

(1) Which problems did the colonists of America face?
" (2) How did the British eXploit India economically?
{3) Why is the latter haif of the 20th century called an 'Era of Decoronisatlon? : _
Q. 3 : Glve reasons for the followlng statements in 26 to 30 words each {Any T‘wo) (4)
(1) The U. S. A. declared war on Japan in 1941, '
(2) The League of Nations did litfle to rectlfy the injustice done te the defeated netlons; N
(3} 20th century stends as a century of revolutionary transformation of human life. -
Q. 4 : Answer the following questions in 40 to 50 words each. (Any Two) ' C (6)
(1) Explain the social conditions prevailing in France-before the Revolution. g
(2) Why is the first half of the 20th century called the 'Age of Conﬂlct'
:(3) What are the demerits off Globalisation? - ' S :
" Q. & : Answer the following questions in 80 to 100 words each. (Any Two) ' . (8)
- (1) Why did the Industrial Revolution begin in England? ' '
{2) Discuss in detail Hitler's Nazism. _ .
{3) Give the causes of the Russian Revorution S
Q 6.:-Fli1 In the blanks with a sultable word from those given in the brackets. (2
(1) In the Rajya Sabha .. members are elected from the states and the Union Territories.
(228, 238, 225, 230) . o '
- (2) The Chief Justice of the Supreme Court is appomted by the
{President, Governor, Vice-President, Prime Minister) - o
Q.- 7': Answer the following questions in 26 to 30 words each. (Any Two) . - {4)
(1) What are the qualifications for the membership of the Lok Sabha? ' S
- §2) State any two functions of the Prime Minister.
. (3) How does the state Government exercise control on Munlc:pel Councils? _
Q. 8 : Write notes in.25 to 30 words each. (Any Two) _ . S (4)
(1) Expiain, the Rajye Sabha is a permanent House. ' . UUI '
~ {(2) Powers of the V’xce-President ) : _
(3) The Gramsevak. ' T ¢ :
Q. 9 | Answer the following questlons In 25 to 30 words (Any One) e ' (2) .
(1) Write the ‘optional functlons’ of the Municipal Corporation T
(2) What is the 'Orlgmal Jurisdiction' of the High Court?
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